Joodoodogn

Shimura Masato
JCDO02773@nifty.ne.jp

20090 40 100

R

1 Picard iteratiopn 1
2 ooo 6
3 References 6

go

00000000 Picard iteration or the method of successive approximation
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00000 y(X) =Yo+ [ f(t.y®)dt

RN Po(X) = Yo

010 P(X) = yo + [ F(t, po())dt = yo + [ f(t, yo)dlt
020 P2(X) = yo + [ f(t, pa(t))alt

OO0 Pe1(X) = Yo + [ (L, pe(t))dt

EXAMPLE y =y, y(0)=1

Y(¥) =1+ [ y)dt=1+ [ yt)dt
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0| pox = Yo Po(%0) = Y(X0) = Yo =1
X X X

1] pi(¥) =y0+fx0 f(t, po))dt =1+ [ f(t, 1)t =1+ [ 1dt =1+Xx

2| pa(X) =y0+ij f(t, pa(O)dt =1+ [ f(t,1+t)dt =1+ [(1+1t)dt Cl4x+ oy
X X 1 X 1

3 pg(x):y0+fx0 ;(t,pz(tl))dt =1+ [ f(t,1+t+§t2)dt :1+f01(1+t+§t2)dt =1+x+

k pk(x):1+x+§x2+§x3 +-~-+EXk = ﬁzoax"
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EXAMPLE y =1+y2, y(0)=0
f(xy)=1+y
y(¥) =1+ [ yM)dt=1+ [ f(1+y®?)dt

w N BB O

Pox=Yo=0
p1(X) = Yo + ij f(t, po(D)dt =0+ [ f(t,0)dt= [ 1dt=x
1
X X X
rM@=w+&j@m®Nhﬂ+Lf@ﬂmeﬂ+@Nh#+§ﬁ
X X X
pﬁ@=wﬁjgﬂtm®kﬂ=O+Lfﬂi+§ﬁmhi£ﬂ+ﬁ+§ﬁ%m

2 1 1 2 1
=f(1+t2+§t4+§t6)dt=x+—x3 x5+—x

3 63
1 2 1
Pa(X) :y0+fx f(t, p3(t))dt: O+fxf(t t+ Zt3+ —t5+ —t)dt
2 ° 3 5 193 38 134 4
_ 1 3 __5 2\dt — 1412 44 6 0740, T 12y
L(+“+ t+ t Gé)mtt£(+t+§ 5t+31t+4725t + 5aE!

137 38 o, 134 5, " 4

_ X3 IS LA O
=X+ 3+ 12X+ X+ e t ererX 1ot * 59538°

DO0000000000000 [ f(l+y®)dt000000
0000000000000000000000000
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al=.1 1r3 2rl15 1r63; 1 3 57
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p®_sub a
1 1r3 2rl15 1r63
1r3  1r9 2r45 1ri189
2rl5 2r45 4r225 2r945
1r63 1r189 2r945 1r3969
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Oooooooooooo pl_sub a
1 2r3 17r45 38r315 134r4725 4r945 1r3969

[((fey»dtooooo
picard®1 al
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1 3 3
2 15 5
17 315 7
38 2835 9
134 51975 11
4 12285 13
1 59535 15
Exampled 3
y =x+y> 000 y(-1)=0
f(xy) =X +y?
y¥) =0+ [ fty®)dt= 0+ [ 2+ y(t)%dt
O] pox=y-1=0
1| p(¥) =0+ [, f(t.0)dt =0+ [, f?dt = % + lx3
_ X 1 1, X 114, 17 1 1, 1 1
2 pz(x)_0+f_1f(t,(3+3t dt = [ (t +(3+3t))dt = 5T gX T3¢+ T x4+ 63x

_1 integral_f (1;2) picard® 1r3 1r3;0 3

17r42 ®
1r9 1
1r3 3
1r18 4
1r63 7

integraLf 00000000000 -10000000 integralf 0000000 O
picard0 0000 (1;2)0 t2

DDDDl+1ﬁ
3 3
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1.1 Script

NB. Picard iteration

NB.Usage: * (1;2) picard® 1r3 1r3;0 3

NB.Usage: *_1 integral_f (1;2) picard® 1r3 1r3;0 3
NB. ---utils--------———-—--——————-

diag=:(<0 1)&]|:

pp=: +//.@(*/) NB. study aid
NB. ——————— = -
pO_sub=:3 : '*/7y’ NB. outer products

pl_sub=:3 : '+//. pO_sub y’ NB. */ -> select oblic sub

p2_sub=: ,@("./.)@(+/") NB. outer products of plus ->select sume
NB., --=---mm e

picard®l=: 3 : O

NB. calc and integral fn "2

NB. a=. 1 1r3 2rl15 1r63; 1 3 5 7

"A® BO’'=. y

TMP2=: (2 x: pl_sub AQ),. Bl=. p2_sub BO®

(>: B1),. (({."1 TMP2),.(1{"1 TMP2) * >: {:"1 TMP2) NB. integral
)

picardf=: 4 : O

NB. (1;2) picard® 1r3 1r3;0 3

’A® BO'=. y

CO DO’=: X

TMP2=: (2 x: pl_sub A®),. Bl=. p2_sub BO®
TMP21=: TMP2, (2 x: CO), D® NB. add x

TMP22=: (/:{:"1 TMP21){TMP21 NB. sort by order
integral_sub® TMP22

)

1 (-~ 1/3),(- - 17/42)

17
42
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integral_sub®=: 3 : "C:{:"1 yv),."({."1 v,.Q{"1 y*=>:{:"1 y)’
integral_£f=: 4 : 0

NB. Usage:_1 integral_f (1;2) picard® 1r3 1r3;0 3

TEISUU=.- +/ (TMP1=._2 x: 2{."1y) * _1 "~ {:"1y

(TEISUU,®) ,TMP1,.{:"1y

)
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